3 58ie 2c) Alac S 4 giall canll)

x 70% = 58.8

x30%=5.4

x 40% = 24.4

x 50% = 28.5

x 60% = 58.8

x30% =17.5

x 40% = 8.8

x 20% = 10.2

x 50% = 37

x20% =104
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Al

x 10% = 8.4

x 60% = 13.8

x 80% = 37.6

x20% = 5.6

x 70% = 56.7

x30% =15

x30% = 2.7

x20% = 5.2

x 60% = 27.6

x 40% = 26.4
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2 5886 ac) Hac S 4 gl caill)

84 x70% = 58.8

18 x30% = 5.4

61 x40% = 24.4

57 x 50% = 28.5

98 x 60% = 58.8

25 x30% ="7.5

22 x40% = 8.8

51 x20% = 10.2

74 x 50% = 37

52 x20% = 10.4

84 x 10% = 8.4

23 x60% = 13.8

47 x 80% = 37.6

28 x20% = 5.6

81 x70% = 56.7

50 x 30% = 15

9 x30% = 2.7

26 x20% = 5.2

46 < 60% = 27.6

66 x 40% = 26.4
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